Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

Table of Contents

F. High CUITENT MOQUIES ...uviiiiiiiiiiieeiieiiei ittt e e e e e e e e e e e e eeeeeseeaeeeeeeeeaeeeaeeaeeeaeeees F-2
PA22RA—HIigh CUITent MOAUIE ......veeiieiiieieieeeeeeeee ettt et e e e e e e e e e e e e e e e e e e aaaeees F-2
L. PrOTUCTE OVEIVIEW .ttt e e e e e e sttt et e e e e e s bbbt e e e e e e e s nnbb b e e e e e e e e e e ennnees F-2
P22 [0 5] = 11 = L1 1 o PP PPPPR F-4
2.1  Master Module Cable INSTAIlAtioN ..........cviiiiiiie e F-5

2.2 MOAUIE INSTAITALION ...ttt e e s F-6

2.3 MOAUIE REMOVAL....eiiiiiieiiii ettt et snnre e F-6

(@0 T= =110 [P PPPPPPPP F-7

Y= T =T = U Lo = PP PR F-8
Troubleshooting and Service ProCeAUIES ......ooooiiiiiiii e F-9

L0 R 1 o U] o] F=1=Y o Yo {1 o SO F-9

5.2 SEIVICE PrOCEUUIES ...ttt ettt ne e e s e e s nee s F-10
5.2.1 Master Module Contact Tip Replacement .........cooviiiiiiiiiiiii e F-10

5.2.2 Tool Module Contact Tip and Wave Spring Replacement ...........ccccccvvivieeeeeeeeeeeeicecnnnns F-11

5.2.3 Master Module Contact Base Replacement..........ccccuiiiiieiiieeee e e e F-12

5.2.4 Tool Module Contact Base ReplaCemMENt ........cccviiiiiiiiiiiiiiiieeee e F-15

5.2.5 Tool Module Pigtail Assembly Replacement............ccuuvviiiiiieiee e F-17

5.2.6 Tubular Seal ReplacemMEeNt........cciiviiiiiiieiiee e F-18

6. Serviceable Parts and Special TOOIS .....cooiiiiiiiiiii s F-19
7. SPECIHTICALIONS oo e ——————— F-20
S TR I - 1LY o F-21

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com
F-1


http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

F. High Current Modules

PA22RA—High Current Module

1.

Product Overview

The PA22RA-M module carries high current from a power supply to customer tooling. The module features (3)
plated copper contacts each capable of carrying 180 Amps; the voltage must not exceed 800 \Volts. The PA21RAP-T
module carries high current from a power supply to customer tooling. The module features (3) plated copper
contacts each capable of carrying 150 Amps; the voltage must not exceed 600 Volts. Power must be off when
coupling and uncoupling. Over-current protection in the primary power supply circuit is recommended.

DANGER: This module has a voltage of 50V or greater; always remove power before
contacting the module. Arcing and damage occur if power is not removed from the module
during maintenance or service. Always remove power before attaching or disconnecting
cables, separating or inserting the mating couplers, or making any contact with the Tool
Changer or Utility Coupler.

The PA22RA-M/PA21RAP-T modules use advanced, patented, cone-mating technology to transfer current from the
Master to the Tool. The mating conical surfaces provide misalignment capability and a large contact area, allowing
efficient coupling/uncoupling without high spring forces or excessive wear. If required, the contact tips on either
the Master or Tool can be replaced without removing the wiring. The contact tips on the Master side contain a
central insulated post and are recessed below the surface. The Master module's contact pins are designed such that
the average adult finger cannot reach the metallic parts.

The modules can accept cabling from either side by changing the position of the end cover plate. A"L" or "R"

in the part number designates the direction of cable feed. An "A™ in the part number designates the module is
compatible with a RobiFix™ connector (see following table and Section 8—Drawings). The standard model
requires a fitting plate with strain reliefs to attach customer cabling; some models utilize fixed connectors. ATI
requires the use of high-flex, finely-stranded cables and proper strain relief to allow for motion. The high current
tool module provides axially compliant motion in the power contacts (refer to Section 2.1—Master Module Cable
Installation for instructions).

Table 1.1—High Current Modules

Module Description/Connection
9121-PA22LA-M PA22-M, Robifix Direct Connection, Left Feed Socket
9121-PA22RA-M PA22-M, Robifix Direct Connection, Right Feed Socket
9121-PA21LAPX.XX-T PA21-T, X.XX m Robifix Pigtail, Left Feed
9121-PA21RAPX.XX-T PA21-T, X.XX m Robifix Pigtail, Right Feed

Note:

1. X.XX:length of module cable in meters

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
F-2


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

Figure 1.1 —Modules

PA22RA Master Module

(Shown)\

(3) Power Contacts

Tubular Seal >Ledge Mount Feature

\PA21RAP Tool Module
(Shown)

When no module is used on the Tool side, a PAE-T cover may be supplied (per customer request) to protect the
Master side power module from dust, debris, and weld spatter.

Figure 1.2—Protective Cover for Tool-side (PAE-T)

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com
F-3


http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

2. Installation

The following procedure outline installation or removal of the module and also detail connecting cables
to the contacts.

AN

DANGER: This module has a voltage of 50V or greater; always remove power before
contacting the module. Arcing and damage occur if power is not removed from the module
during maintenance or service. Always remove power before attaching or disconnecting
cables, separating or inserting the mating couplers, or making any contact with the Tool
Changer or Utility Coupler.

A

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless
the Tool is safely supported or placed in the tool stand, all energized circuits (for example:
electrical, air, water, etc.) are turned off, pressurized connections are purged and power

is discharged from circuits in accordance with the customer specific safety practices and
policies. Injury or equipment damage can occur with the Tool not placed and energized
circuits on. Place the Tool in the tool stand, turn off and discharge all energized circuits,
purge all pressurized connections, and verify all circuits are de-energized before performing
maintenance or repair(s) on the Tool Changer or modules.

>

CAUTION: Do not use stiff, heavy stranded cables which can inhibit operation of the high
current module. Stiff cables can prevent compliant motion of the contacts and cause an
intermittent or improper power connection. Operation of the high current module requires the
customer supplied cables to be high-flex type with fine stranding and sufficient strain relief to
allow free cable motion.

>

CAUTION: Thread locker applied to fasteners must not be used more than once. Fasteners
might become loose and cause equipment damage. Always apply new thread locker when
reusing fasteners.

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

F-4



http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

2.1 Master Module Cable Installation
Tools required: 4 mm and 5 mm hex key, torque wrench, phillips screwdriver, 29 mm wrench

Supplies required: Loctite® 242

1. If the module is already installed on the Tool Changer, remove the (2) M6 socket head cap screws
that secure the module to the Tool Changer using a 5 mm hex key. Lift the module assembly off the
Tool Changer body.

2. Using a 4 mm hex key, remove the (4) M5 socket head cap screws that secure the fitting plate
to the housing.

3. Using a phillips screwdriver, loosen the (2) pan head screws on the inside of the fitting plate and slide
the socket retainer away from the holes in the fitting plate.

4. Disassemble the Robifix connector to gain access to the (3) cables/contacts.

NOTICE: If using larger diameter cables, the inner grommet inside of each cord grip will need to
be removed and the outer grommet must remain.

5. Using a 29 mm wrench, loosen the cord grips and route the (3) cables/contacts from the Robifix
connector through the (3) cord grips until hard stop.

6. Push down on the socket retainer to secure the (3) cables.

7. Using a phillips screwdriver, tighten the (2) pan head screws on the inside of the fitting plate. Tighten to
48 in-0z (0.34 Nm). Note: Socket retainer must be flush for assembly of fitting plate to housing.

8. Using a 29 mm wrench, tighten the (3) cord grips dome nuts one at a time starting with the middle nut.
Tighten to 50 in-lbs (5.65 Nm).

9. Install the fitting plate to the housing.
10. Apply Loctite 242 to the (4) M5 socket flat head cap screws.

11. Using a 4 mm hex key, install the (4) M5 socket head cap screws to secure the fitting plate to the
housing. Tighten to 25 in-lbs (2.82 Nm).

/

Figure 2.1—Install the Cables

Socket Retainer Flush
with Fitting Plate oo ot Retainer

(2) Pan Head Screw
|_—Fitting Plate

(4) M5 Socket Head Cap Screw~

“-Housing

\Fitting Plate

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com
F-5


http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

2.2 Module Installation
Tools required: 5 mm hex key, torque wrench

Supplies required: Clean, lint-free rag, Loctite® 242

1. Clean the mating surfaces with a clean, lint-free rag.

2. Place the module on the Tool Changer body. Align the module with the Tool Changer using the dowels in
the bottom of the ledge feature.

3. If fasteners do not have pre-applied adhesive, apply Loctite 242 to the supplied (2) M6 socket
head cap screws.

4. Install the (2) M6 socket head cap screws securing the module to the Tool Changer using a 5 mm hex
key. Tighten to 70 in-lbs (7.9 Nm).

5. Safely resume normal operation.

Figure 2.2—Module Installation

Use Ledge Mounting Feature
to Properly Align Module

|

(2) M6 Socket Head
Cap Screw

High Current
Module \‘

Tool Changer

2.3 Module Removal
Tools required: 5 mm hex key

Supplies required: marker pen

1. Place the Tool in a secure location.
2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, and
hydraulic circuits).

4. Use a paint marker to indicate where the module is to be re-installed.
5. Disconnect all utility connections.

6. Remove the (2) M6 socket head cap screws using a 5 mm hex key and lift the module from
the Tool Changer.

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
F-6


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

3. Operation

The high current modules are designed to carry large currents to various industrial devices, providing a separable
joint in the power wiring. To maximize the service life of these components the following points must be observed:

A

WARNING: The contacts are not a switch. For safety and to prevent equipment damage,
disconnect and drain all power before coupling or uncoupling the Tool Changer or
Utility Coupler.

CAUTION: Do not couple or uncouple the high-current modules unless electrical power
has been disconnected and discharged both upstream and downstream from the modules.
Arcing and contact damage will occur. Remove power and discharge both upstream and
downstream modules before coupling or uncoupling modules.

CAUTION: Improper cable routing can result in wires and cables being pinched in the joint
between the Tool Changer plates and premature failure of the electrical connectors. Properly
route and secure all cables, particularly on the Master side.

CAUTION: Always protect the un-used Tool modules when not coupled to a Master module.
Dust, debris, and weld spatter can contaminate the contact tips, which can cause arcing and
a significant decrease in contact life.

A
A
A
A

CAUTION: Do not use stiff, heavy stranded cables which can inhibit operation of the high
current module. Stiff cables can prevent compliant motion of the contacts and cause an
intermittent or improper power connection. Operation of the high current module requires the
customer supplied cables to be high-flex type with fine stranding and sufficient strain relief to
allow free cable motion.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com

F-7



http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

4. Maintenance

The condition of the contacts should be checked periodically. Use a stiff nylon brush to remove contamination from
the contacts. During inspection, ensure that the fasteners that attach the modules to the Tool Changer are secure.

DANGER: This module has a voltage of 50V or greater; always remove power before

& contacting the module. Arcing and damage occur if power is not removed from the module
during maintenance or service. Always remove power before attaching or disconnecting
cables, separating or inserting the mating couplers, or making any contact with the Tool
Changer or Utility Coupler.

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless
A the Tool is safely supported or placed in the tool stand, all energized circuits (for example:
electrical, air, water, etc.) are turned off, pressurized connections are purged and power
is discharged from circuits in accordance with the customer specific safety practices and
policies. Injury or equipment damage can occur with the Tool not placed and energized
circuits on. Place the Tool in the tool stand, turn off and discharge all energized circuits,
purge all pressurized connections, and verify all circuits are de-energized before performing
maintenance or repair(s) on the Tool Changer or modules.

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
F-8


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

5. Troubleshooting and Service Procedures

The following section provides troubleshooting and service information to help diagnose conditions and repair the
high current module.

AN

DANGER: This module has a voltage of 50V or greater; always remove power before
contacting the module. Arcing and damage occur if power is not removed from the module
during maintenance or service. Always remove power before attaching or disconnecting
cables, separating or inserting the mating couplers, or making any contact with the Tool
Changer or Utility Coupler.

A

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless
the Tool is safely supported or placed in the tool stand, all energized circuits (for example:
electrical, air, water, etc.) are turned off, pressurized connections are purged and power

is discharged from circuits in accordance with the customer specific safety practices and
policies. Injury or equipment damage can occur with the Tool not placed and energized
circuits on. Place the Tool in the tool stand, turn off and discharge all energized circuits,
purge all pressurized connections, and verify all circuits are de-energized before performing
maintenance or repair(s) on the Tool Changer or modules.

5.1 Troubleshooting

The high current modules provide a separable joint in the cabling between power sources and industrial
devices. Failure of the industrial devices to operate for any reason must be diagnosed electrically.

Table 5.1—Troubleshooting

malfunctioning

Symptom Possible Cause Correction
Object trapped . .
between modules Remove obiject, then attempt coupling.
Ensure that the spring loaded contacts on the Tool side can
move freely and are not bound by debris. Clean the spring
Contact contamination pins to restore free operation. Clean Tool side module contacts
due to environment (refer to Section 5.2.2—Tool Module Contact Tip and Wave
Spring Replacement). Inspect seal and replace if damaged
(refer to Section 5.2.6—Tubular Seal Replacement).
Any contamination on the contacts should be removed using a
. . stiff, nylon brush.
Contact pin separation - - ; —
Power Air supplied to Tool Changer insufficient. Improper valve used

(refer to Tool Changer manual for pneumatic requirements).

Module contact damage
due to coupling/
uncoupling under load

Revise operating procedures to only couple/uncouple with
power disconnected and discharged. Replace module contacts
(refer to Section 5.2.2—Tool Module Contact Tip and Wave
Spring Replacement for Tool module).

Connector or cable
damage - pinched,

torn, or fatigued cables,
contact base, or contact
wave spring is worn

or damaged

Inspect cables and contact base for damage, test cables, test
contact wave springs (refer to Section 5.2.2—Tool Module
Contact Tip and Wave Spring Replacement).

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com

F-9



http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

5.2 Service Procedures
Component replacement procedures are provided in the following section:

f CAUTION: Do not use fasteners with pre-applied adhesive more than once. Fasteners

might become loose and cause equipment damage. Always apply new thread locker
when reusing fasteners.

5.2.1 Master Module Contact Tip Replacement
Parts required: Refer to Section 8—Drawings.
Tools required: 2.5 mm hex key, Torque wrench

Supplies required: Non-hardening, conductive silver bearing grease (ATl 0290-70-0000-50-008,
McMaster-Carr #1219K57, Al Technology #ELGR8501 or equivalent)

Removal:
1. Place the Tool in a secure location.
2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, and
hydraulic circuits).

4. Remove the M3 socket head cap screw from the center of the insulator post using a
2.5 mm hex key.

5. Remove the insulator post and the Master contact tip. Discard the contact tip.

Figure 5.1—Master Module Contact Tip Replacement
M3 Socket Head Cap Screw\'

Contact Tip
Apply silver grease to the \

mating surface between
the contact base and the

contact tip

Insulator Plate \

Installation:

F /Insulator Post
.

NOTICE: Always replace Master and Tool contact tips at the same time (as pairs).
Failure to change both halves of a mating pair will result in decreased life of
the new component.

6. Apply a thin film of non-hardening, conductive silver bearing grease (ATI
0290-70-0000-50-008, McMaster-Carr #1219K57, Al Technology #ELGR8501 or equivalent)
with a volume resistivity of 0.001 ohm-cm minimum to the mating surface between the contact
base and the new contact tip. Insert the new contact tip into the insulator plate and reinstall the
center insulator post.

7. For an M3 socket head cap screw, insert the screw into the insulator post and secure using a
2.5 mm hex key. Tighten to 10 in-Ibs (1.1 Nm).

8. Safely resume normal operation.

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
F-10


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

5.2.2 Tool Module Contact Tip and Wave Spring Replacement
Tools required: 2.5 mm hex key, torque wrench

Supplies required: Non-hardening, conductive silver bearing grease (ATl 0290-70-0000-50-008,
McMaster-Carr #1219K57, Al Technology #ELGR8501 or equivalent)

Removal:
9. Place the Tool in a secure location.
10. Uncouple the Master and Tool plates.

11. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, and
hydraulic circuits).

12. Remove the M3 socket head cap screw from the center of the Tool contact tip using a
2.5 mm hex key.

13. Remove the Tool contact tip and wave spring from the insulator plate and discard.

Figure 5.2—Tool Module Contact Tip and Wave Spring Replacement

M3 Socket Head Cap Scre Apply silver grease to the
mating surface between
Tool Contact Tip the contact base and the

contact tip.

Wave Spring

©J

Insulator Plate

NN

Installation:

NOTICE: Always replace Master and Tool contact tips at the same time (as pairs).
Failure to change both halves of a mating pair will result in decreased life of
the new component.

14. Apply a liberal amount of non-hardening, conductive silver bearing grease (AT
0290-70-0000-50-008, McMaster-Carr #1219K57, Al Technology #ELGR8501 or equivalent)
with a volume resistivity of 0.001 chm-cm minimum to the mounting surface between the
contact tip and the contact base.

15. Insert the new wave spring and contact tip into the insulator plate.

16. Insert the M3 socket head cap screw into the Tool contact tip and secure using a 2.5 mm hex
key. Tighten to 10 in-lbs (1.1 Nm).

17. Safely resume normal operation.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com
F-11


http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04
5.2.3 Master Module Contact Base Replacement
Parts required: Refer to Section 8—Drawings.
Tools required: 2.5 mm and 3 mm hex key, 13 mm wrench, Torque wrench, marker pen
Supplies required: Loctite 222

1. Place the Tool in a secure location.
2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, and
hydraulic circuits).

4. Remove module from the Tool Changer (refer to Section 2.3—Module Removal).

5. Remove the contact tip from the contact base to be replaced (refer to Section 5.2.1—Master
Module Contact Tip Replacement).

6. Using a marker pen, mark the orientation of the fitting plate to the module housing.

7. Remove the (4) M5 socket head cap screws that secure the fitting plate to the housing using
a4 mm hex key.

8. Remove the fitting plate from the housing.

9. Using a 2.5 mm hex key, remove the (4) M3 socket head cap screws that secure the contact
block to the module housing.

10. Remove the contact block, tilt the contact block as you remove it to allow the contact bases to
clear the housing (Note: the contact block may also be referred to as an insulator plate).

11. Using a 13 mm wrench, remove the pin from the contact base being replaced.
12. Remove the C-clip from the contact base being replaced.
13. Remove the contact base by sliding it out of the contact block.

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
F-12


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

Figure 5.3—Replace Contact Base

' m “-Contact Base
(4) M3 Socket Head Cap Screw\ |

\Housing

\Fitting Plate

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com
F-13


http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04
14. Install the new contact base into the contact block in the correct orientation.
15. Install the C-clip onto the new contact base.
16. Using a 13 mm wrench, install the pin to the contact base. Tighten to 90 in-lbs (10 Nm).
17. Make sure O-ring is properly seated in housing.

18. Install the contact block in the housing using the (4) M3 socket head cap screws and a 2.5 mm
hex key. Tighten the screws to 10 in-lb (1.1 Nm).

19. Attach the ring terminals to the contact bases and secure with (3) M8 external tooth washers
and (3) M8 hex head cap screws. Using a 13 mm socket wrench, tighten the screws to
90 in-1bs (10 Nm).

20. Apply Loctite 222 to the cover plate assembly's (4) M5 socket head cap screws. Use a
4 mm hex key to install and secure the fitting plate to the housing. Tighten the screws to
25in-1b (2.8 Nm).

21. Install the contact tip to the contact base to be replaced (refer to Section 5.2.1—Master
Module Contact Tip Replacement and Section 5.2.2—Tool Module Contact Tip and Wave
Spring Replacement).

22. Install the module onto the Tool Changer (refer to Section 2.2—Module Installation).
23. Safely resume normal operation.

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
F-14


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04
5.2.4 Tool Module Contact Base Replacement
Parts required: Refer to Section 8—Drawings.
Tools required: 2.5 mm and 3 mm hex key, 13 mm socket wrench, Torque wrench
Supplies required: Loctite 222
1. Place the Tool in a secure location.
2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, and
hydraulic circuits).

4. Remove module from the Tool Changer (refer to Section 2.3—Module Removal).

5. Remove the contact tip from the contact base to be replaced (refer to Section 5.2.2—Tool
Module Contact Tip and Wave Spring Replacement).

6. Remove the (4) M5 socket flat head cap screws that secure the adapter to the housing using
a 3 mm hex key.

7. Using a 2.5 mm hex key, remove the (4) M4 socket flat head screws that secure the cover plate
assembly to the housing and remove the cover plate assembly.

8. Using a 13 mm socket wrench, remove the (3) M8 hex head cap screws and (3) M8 external
tooth washers securing the ring terminals to each contact base.

9. Using a 2.5 mm hex key, remove the (4) M3 socket head cap screws that secure the contact
block to the module housing. Remove the contact block (Note: the contact block may also be
referred to as an insulator plate).

10. Remove the C-clip from the contact base being replaced.
11. Remove the contact base by sliding it out of the contact block.

Figure 5.4—Remove Old Contact Base

T

| 4
Cover Plate Assembly\ : ‘\(4) N(|j4 Socket Flat
. Head Cap Screws

\
P | !
LS. _ /(3) M8 Hex Head Cap Screw
~ ‘ (3) M8 External Tooth Washer

vl

Housing

Contact Block/ |

b
Clip Ri -~ &_(4) M3 Socket Head
P RIng f& Cap Screws
Contact Base / _|

Contact Tip/

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com
F-15


http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T

Document #9620-20-F-PA22RAM PA21RAPT-04
12. Install the new contact base into the contact block in the correct orientation.
13. Install the C-clip onto the new contact base.

14. Install the contact block in the housing using the (4) M3 socket head cap screws and a 2.5 mm
hex key. Tighten the screws to 10 in-lb (1.1 Nm).

15. Attach the ring terminals to the contact bases and secure with (3) M8 external tooth washers
and (3) M8 hex head cap screws. Using a 13 mm socket wrench, tighten the screws to
90 in-1bs (10 Nm).

16. Apply Loctite 222 to the cover plate assembly's (4) M4 socket flat head cap screws. Use a
2.5 mm hex key to install and secure the cover plate assembly to the housing; tighten the screws
to 12 in-Ib (1.4 Nm).

17. Install the contact tip to the contact base to be replaced (refer to Section 5.2.2—Tool Module
Contact Tip and Wave Spring Replacement).

18. Install the module onto the Tool Changer (refer to Section 2.2—Module Installation).
19. Safely resume normal operation.

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
F-16


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

5.2.5 Tool Module Pigtail Assembly Replacement
Parts required: Refer to Section 8—Drawings.

Tools required: 2.5 mm hex key, 13 mm socket wrench, 30 mm wrench, Torque wrench

Supplies required: Loctite 222

1.
2.
3.

Place the Tool in a secure location.
Uncouple the Master and Tool plates.

Turn off and de-energize all energized circuits (for example: electrical, pneumatic, and
hydraulic circuits).

4. Remove the module from the Tool Changer (refer to Section 2.3—Module Removal).

5. Using a 2.5 mm hex key, remove the (4) M4 socket flat head cap screws that secure the cover

plate assembly to the housing. Remove the cover plate assembly.

Using a 13 mm socket wrench, remove the (3) M8 hex head cap screws and (3) M8
external tooth washers that secure the ring terminals to the contact bases. Remove the old
pigtail assembly.

If needed, use a 30 mm wrench to loosen the cord grips and route the cable through the cord
grips and fitting plate.

Attach each of the ring terminals to the appropriate contact base and secure with the M8
external tooth washer and M8 hex head cap screw. Tighten to 90 in-Ib (10 Nm) using a
13 mm socket wrench.

Tighten the cord grip dome nut finger-tight. Starting with the middle fitting, tighten an
additional 1-1/2 turns using a 30 mm wrench.

10. Apply Loctite 222 to the cover plate assembly's (4) M4 socket flat head cap screws. Use a

2.5 mm hex key to install and secure the cover plate assembly to the housing; tighten the screws
to 12 in-Ib (1.4 Nm).

11. Install the module onto the Tool Changer (refer to Section 2.2—Module Installation).

12. When the above procedure is complete, resume normal operation.

Cover Plate

Assembly \ _‘r

Housing

Fitting Plate /

Figure 5.5—Pigtail Assembly Installation

(4) M4 Socket Flat

/ Head Cap Screw
T

Y

(3) M8 Hex Head Cap Screw

(3) M8 External Tooth Washer

(3) Ring Terminal

/(3) Cord Grip

/ Pigtail Assembly

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com

F-17


http://www.ati-ia.com/

Manual, High Curren

t Module, PA22RA-M,PA21RAP-T

Document #9620-20-F-PA22RAM PA21RAPT-04

5.2.6 Tubular Seal Replacement
The tubular seal protects the electrical connection between the Master and Tool module. If the seal

b

ecomes worn or damaged, it needs to be replaced.

Parts required: Refer to Section 8—Drawings.

1.
2.
3.

Tubu

Place the Tool in a secure location.
Uncouple the Master and Tool plates.

Turn off and de-energize all energized circuits (for example: electrical, pneumatic, and
hydraulic circuits).

To replace the tubular seal on the Tool module, use a small screwdriver to gently pry the seal
out of its retention groove.

To install a new seal, place it over the empty groove in the Tool side insulator plate and press
the seal in place.

Safely resume normal operation.

Figure 5.6—Tubular Seal Replacement

lar Seal

NOTICE: Individual parts may differ slightly in appearance from what is shown in
the figure above.

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

F-18


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

6. Serviceable Parts and Special Tools

Refer to Section 8—Drawings.

Table 6.1—Master Module Mounting Fasteners

Part Number Qty | Description

3500-1066020-21A 2 | M6 x 20 Socket Head Cap Screw, SS, ND Microspheres.

Table 6.2—Tool Module Mounting Fasteners

Part Number Qty | Description

3500-1066016-21A 2 | M6 x 16 Socket Head Cap Screw, ND, Microspheres.

Table 6.3—Special Tools

Part Number Description

3690-0000064-60 Brush, Blue Nylon All Purpose (Contact Pin Cleaning)

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com
F-19


http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T
Document #9620-20-F-PA22RAM PA21RAPT-04

7. Specifications

Table 7.1—Master Module

9121-PA22R(L)A-M

180A Compact Power Module, Master

Interface Connections

(3) Power Contacts

Electrical Rating

180A, 800V Max.

Cable Sizes Supported

Cable OD 8-17 mm, Robifix Socket Connection Only.

Weight

TBD

Table 7.2—Tool Module

9121-PA21R(L)APX.XX-T

150A Compact Power Module, Tool

Interface Connections

Straight RobiFix pigtail

Electrical Rating

150A, 600V Max. Current limited by connector.

Cable Sizes Supported

#2 AWG High-flex type with fine stranding (for other options, Contact ATI)
Ring terminals are used to attach the conductor to the contact base.

Weight TBD

Table 7.3—Tool Side Cover
9121-PAE-T Protective cover when tool side module is not installed.
Weight 0.44 Ibs (0.2 kg)

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

F-20



http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T

Document #9620-20-F-PA22RAM PA21RAPT-04

8. Drawings

¥0

NOISIAZY

1dvdlevd WvHZevd-02-0€96

¥3BWNN ONIMYST

d

375

(41

31¥2§

G40 | 133HS 1-Z10L8) #103rodd

Buimelq Jawoisn) 1-dvHievd ‘IN-vEzevd

EVUS

61/92/Z 'sined M
61/02/Z ‘|edoiag "M\ A8 DIOIHO

8L///LL ‘SUOWIS "Q A8 NMVIA

1LY 4O NOILVZIHOHINY NILLI¥M YOI¥d HLIM ¥O ¥30¥O0 NO 1d30X3 3INNVIW
ANY NI G3DNQ0¥d33 38 OLLON "DNI 'NOILYWOLNY TYIALSNANI LV 40 AL¥3dONd

wooer-e@o,

Auedwog paiejsibay 006 OSI
WOQB-NEMMN 6628/ 616+ XBS
iews  GL07// 646+ 1oL

VSN 6662 ON Xedy ‘9N YLompooD L0}

_—

isisaany il LN

——

e — N

s19)9 Ut YyiBusT siy) saunusp|
19qUINN Hed [001 8u} Ul XXX

1

T‘n.mi‘
' I

¥

8'Gy

all

6'Ge

(I1IPYS onseld o|qeroway
apis| g1 N-GE9-XI41G0Y)
3374-669-X141q0Y

. 2

—

—:
SV X9ZN

8] _
o TJ . .

L-XX'XdVdlevd-12le

Leoz/8/e

sa W$ZLL

G WS JO YODS | SUIDUOD ‘T8SZ-0C
-5006 = 11 PINCI2Y 8ISOW dill, X8} PaAOWaI Z 199U :28/61 O3

0

alva

JOLVILINI

NOILdI¥OS3a ‘A3Y

NOILD3MON F1ONY P "SuUolONUSUI UOIE|[eIsul JO) G B 1 S}9aYS 89S “/
1001 pue Ja}Se| 10} S|elalel\ Jo |lIg papojdxa ue Joj € B g S}eays 89S ‘9
‘suoljelnBijuod ajnpow [00] dAleUI) e
10} | LV 10BJU0D "VY0SL/OVADQ9 104 Pajel 8inpow 100 "Y08L/JQVAD(0S 104 Pojel 8|npow J8isei ‘G
*a)l| pue aouewlopad Jonpoud }saq 1o} ueso 1dey aq }snw sdi Joeju0d 8y]
‘PapUSWIWIODal S| U0IDS}0Id JUSLIND-ISAO JO UOHE|[E}SUl 8Y] '€
*Anfu] pue abewep a|NPoW 8I8ASS Ul JNSaJ UeD 0S Op 0} aJN|ie4 "WEealsumop pue wealsdn
N34V mzmwﬁw‘ﬁﬁﬁ yjoq pabieydsip pue payoauuoosip usaq sey Jamod ssajun sajnpow ay} ajdnooun 1o 8|dnoo Jou oq ‘g
ONIMYNG TYDS TON 08 ‘U2)IMS B SB Pasn g JOU }SNW pue Yo}IMS B JoU SJe SS|npow [eol}0al8 ay] ‘|
‘Q3H103dS 1S9J0N
3ISIMIIFHLO SSTINN “SILON
*J0}02UU09 XI41qOY Sy} Ul JO Sjnpow |1V du}
ur JByya pjay ay) Ui paydyMs aq Aew A’ N S]OEUOD 4, + 1 —
yealg-jset)/eqeN-isiiy 1o}
painbyuo) si g }9eU0 |00 8'Gy
5 << 5 ) +
a << g puo N | [H
v << \4 xN
JOEJU0D JOBJUOD JOBJU0)
1LV [001 1LV Jojseiy X14190Y eel Ge
S|NPO |00
1-XX'XdVdlZvd-LzZle
J8joWelq 9|qeD Wit/ | -wi:
Me-1-GZN-9D enuess3 (g
[ i
) (-xoiddy)
V' pejdnon G€Tl
616
0 L0

a|npoyy Jeysey
W-VH2Zvd-12le

WN-V¥2evd-1216

*sjuauodwod s} Jo 1abBueyd |00} 3y} Y}m joejuod Aue Jo S10}93uuod Bunew
3y} jo uoluasul Jo uonesedas sapnjoul Ajjeroadsa siy| "1amod Buirowal a10yaq
pajdwajie aq pjnoys 3oe3u0d ON ‘19jealb Jo AQS jo abejjoA e sey anpow siyL

<

pJezeH }ooys [ed399[7 - ,iyIONVA.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com

F-21


http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T

Document #9620-20-F-PA22RAM PA21RAPT-04

¥0 1dvdlevd NWVHZevd-0¢-0€96

G40 g 133Hs

1-ZL0L8| #103rodd

m; zl

NOISIAZY ¥IIWON ONIMYYD | 3718 ElN/eN)

61/92/C ‘sined M

61/02/Z ‘(200119 "\ A8 AIAOIHD

Buimelq sowoisnd 1-dvLZvd ‘N-VHZeYd

ENTIY

Q1///1 ) ‘SUOWIS " ‘A8 NMV¥Q

“ILV 4O NOILYZISOHLNY NILLIYM ¥OIdd HLIM 3O 33030 NO 1d3DX3 33NNV
ANV NI @30NQ0¥d3d 38 OL LON “DNI ‘NOLLYWOLNY TVIIISNANI 1LY 4O AL¥3dOdd

Aueduwiog passsibay 1006 OSI
WOooBI-Je MM~ 65287// 616 L+ XE

NoLLYWO.LNY
Tvidisnani

—
(A -4

NOLD3rO¥d JIONY P

NI
"ONIMYYA FTVOS LON Od

“SYFLEFWITIW
33V SNOISNIWIA 1TV

E%m%mww@x@%%ﬂﬁ& ﬁm..u%:@@:ﬂnﬂ%ﬂmm ( 3SIMYIHLO mmimmﬁ%wm

L2vd ‘Alquassy 8je|d 19A0) €09¢-0¢-5006 3 6l
wwg vy ‘02vd ‘Alquessy Jaro) pug G6¥2-02-5006 3 8l
8INpop JuaLnY YBIH ‘10}08Uu0) XIIqoy ‘Jauleldy 1e%00S 2/6011-02-004€ 3 Ll
Iup $S0JD 8Nl ‘'Y00Z ‘osegd 10ejuo 88601-02-00.€ € 9l
duo p10D GZIN XE ‘SIeN00S Jasel XyIqoy ‘areld Buniy /8601-02-004€ 3 Sl
L2vd ‘xog ‘Buisnoy ¥8¥01-02-004€ 3 143
J9IselN ‘0Zvd 00l 19eju0D 1056-02-00.€ 3 el

aje|d JOAIIS JaiseN ‘'Y00g ‘diL J0rjU0D £268-02-004€ €

HILSVYIN ‘1SOd ¥OLVINSNI €G1%-02-00.E €
"BlQ Yeys .8/S 104 Bury 81K1g-0 soueIes|9-m0T| L L-#000059-069€ € 0ol
‘uojAN ‘ebued 8|qe0 wuwi/ |-wwe ‘peasyL Gz ‘du pIod|  09-0000080-029€ € 6
[99)S Ao|ly [omog Wwg| X Wwg|  |1-9105010-0¥SE [4 8
paljddy-a.d ‘@nig ‘SOHS WWOZ X L-9N| VYS1-0209901-005€ [4 L
SS ‘SOHS WWSZ X 8'0-GIN|  12-G20%901-005€ 14 9
pal|ddy-a.id ‘SS ‘SOHS WWQL X G'0-€IN| V12-0L08501-00S€ € S

pallddy-a.d ‘SS ‘SOHS WWg X G'0-€IN| V12-8008501-00G€ 14 14 X
SS - SdITTIHd AV3H NVd 8 X G'0-€WN| LZ-8008510-00S€ 4 €
V0. ‘9N ‘WwZ X wwgg ‘Burd-0|  10-6€¥1000-01+€ l [4
LO¥0'0€ OV L¥-8IN/8S XI41G0Y ‘Wl X Wwg ‘uld|  10-1020£90-00.) € 3
NOILdINOS3a|  ¥3EWNN Lyvd| ALD| L ON
ql-ul 21 / 22Z 811007
J9A0D ypm paljddns smalog

/1 ‘Gl ‘6 ‘9 ‘€ :swa)l Jo sapuenb umoys e sulejuo)
€8/8-02-G006 = ¥Y 8leld Bumi J0j0duu0) XYIqoy

apIs aysoddQ a8y} uo pajedso si Alquiassy
J9A0D) U By} Paa-4 1o 104 UMOUS pasd 1yBlY

IN-VdZZVvd-12L6
sjied apis Jajsepy

ql-ut ¢l / ¢¢c 9007

1aA0D yIm
paijddns smaiog @

@ \A_DEwww( IXaN 01
ﬂ @\Q 2 d-uo6/-

® Z0-Ul 8% / 22C 911007 (§)

‘Buisnoy ay) ojul [BSS pue JsLUED JOEJUOD By} dI|s

uay) ‘JaLIed JoBU0D By} JO apisiapun ay} 0} 3} ‘Bull-o ay) 0} agnjeubeyy BuiAldde Jayy z
‘lenuew jonpoud ay) Jad aoepns wopoq ayj o} aseald Jais Alddy *|
:S9JON

aru 05 /- ®

q-uro6 /-

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

F-22


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T

Document #9620-20-F-PA22RAM PA21RAPT-04

0 1dvdlevd WVHZevYd-02-0€96

NOISIAZY ¥IIWNN ONIMYAT

g

azs

2l G40 ¢ 133HS
31v0§

L-2L0L8L #103rodd

Buimesq sowoysnd 1-dv L gvd ‘N-VYHZZYd

61/92/Z ‘sined M
61/02/Z ‘[e90119g "\ A8 G3403HO

J1L 8L///LL ‘SUOWIS " A8 NMVd

“ILV 40 NOILYZIHOHLNY NILLI¥M ¥OIdd HLIM 3O 33030 NO Ld3DX3 33NNV
ANY NI G3DNQ0¥d3¥ 38 OL LON "ONI ‘NOILYWOLNY TYIHLSNANI LY 40 AL¥3dO¥d

Aueduwiog pasesibay 006 OSI

woo'BljeMWN  66Z8°7/L 667+ Xed
wooe-pe@ojul -News  GLL07LL 646+ 191
VSN 66622 ON “xedy ‘9AuQ ypompoos £}

NoLLYWO.LNY

Wiienan N LN

| ——

NOLLDIrO¥d FIONY PiE

NI 33V SNOISNIWIA 11V
"ONIMV¥J 31vOS LON O

SIELEWMIW

JSIMIFHLO SSIINN SILON

‘@3HID3dS

12vd ‘Alquassy sjeld 1oA0D £092-02-5006 } Ll

1-02vd ‘|eeS Jengqn] UOYA "BIg WWy X ,£'8 86%2-02-5006 L 9l
wwig'v¥ ‘02vd ‘Alquessy Jeno) pug S6%2-02-5006 L Sl

L2vd ‘xog ‘Buisnoy ¥8%01-02-00.E L vl

1001 XXVd ‘@dA| yog ‘eseg Joejuod v00z 2156-02-00.€ € €l
1-02vd ‘9leld JolIe) J0ejuo) 1166-02-00.€ ! zl

di1 1oBjUOD BINPO |00 Jemod YbiH 8G1%-02-00.¢ ) Ll

"eld Yeus .8/S Joj Bury 81A1g-0 doueJes|O-MOT| | 1-¥000059-069¢ € oL
80-26811 Asllews-67 ¥ X d0.L6° ‘Bundg anem 12-10110€2-019¢ € 6
[93)s Aoj|y [omoQ w9 X Wwg|  11-9105010-0%S€E 4 8

V6.9 NI ‘Hd UZ ‘[98)S ‘BNl ‘Yl00 IX3 %007 Ueysepm |  Z1-100/925-0LGE € L
paijddy-aid ‘enjg ‘SOHS Wwg| X L-9N|  VS1-9109904-005€ 4 9
paiddy-a.1d ‘enig ‘SOHS WWz| X G'0-EIN|  VS1-Z108501-00S€E L S

oUIZ ‘SOHH 2L X 8| Z1-Z108980-005€ € v

V0. ‘SIUIN ‘Wwg X wwgg ‘Burd-0|  10-6£¥1000-0L1E l €

04822€ NV ‘wiwigxz# wisl Bury|  £0-20201G5-G0.LL € 4

PMIS 91/G 'OMY P# ‘Pejeinsu| UoN ‘leuiwss) Bury|  £0-0220190-G0ZL € |
NOILdINOS3a HIANNN L8Vd| ALD| "ON WALl

LL 8 6 ‘G :Swajl Jo yoes | sulejuoy
€862-02-G006 = I Plingay |oo] di|

apIS aysoddQ ay} uo pajeso st Alquiassy
1an0D) pu3 ey} pea4 Yo 104 "umoys pasd by

1-112vd-1216 B 1-412Vd-1216
sped 9pIs |[00]

Klquiassy JxeN 0L

ql-ur 06 / - @/

‘Buisnoy 8y} ojul (eSS pue JalIED JoEJU0D 8y} dijs
uay} ‘JalJED JOBJUOD BY) JO BpIsiapun ay} 0} Jij ‘Bul-o ay} o} agnjeubey buihjdde Jayy g
‘lenuew jonpo.d ay} Jad 8oepuns woog ay} 0} asealb Jaajis Alddy |
:S9JON

aru oL /- ©

®

n_.c_oi-.mmv
A/ \vc ¢

\ N

S 21

C 810N
agnjeubepy

ql-ul G2 / ¢¢¢ 9111907

19A0D) UM
Yl\\@ paiiddng smalog

ql-ul Z1 / 22c 8007
J9A0D UM
paiiddng smaiog

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com

F-23


http://www.ati-ia.com/

Manual, High Current Module, PA22RA-M,PA21RAP-T

Document #9620-20-F-PA22RAM PA21RAPT-04

zo_mmm Ldvalevd s_<w_mm,,“m%zm wwmwm mm_m wwum SO VI Vel0is) roAon oo e ‘uayibi) "suid 8y} 0} 8jeW SIOBJUOD 18)00S 8y} Buunsua ajnpow ay) ojuo ayeid Bumy 8y} 34 "9
61/92/2 ‘sined “Buny s|ppiw 8y} Yim Buipels swi e Je suo sinu swop dub piod sy} usiybl] G
,,89 o8 A 48 GO ‘smaJos peay ued uajybiay ‘ayeld Buny 0} sdwd 81ndas 0} Sqe} 8y} U0 UMOP yshd ‘i

Bumelq Jowoisng 1-dvlzvd ‘W-vHzevd BL/0z/e 1200128 M “Alquiasse

e 8L/2/L1 ‘SUOWIS " Ag NMYAa dub piod sy} uIyIM pajjeisul 8q ueo Jonpo.d ypm panddns Jawiwolb Jsuul 8y} ‘sI0)ONpUod
11V 40 NOILVZNOHINY NLINM 3OIId HLIM 3O 33030 NO 1430X3 3INNYW Jajewelp Js|jews Jo4 "sdojs Il [un sjeid Bumy pue dub p1od ey} ybnoay) dwiuo Xyiqoy ay} pesu| ¢
ANV NI @30NQ0¥d33 38 OL LON "ONI ‘NOILYWOLNY TVIALSNANI LV 4O AL¥3JO¥d ) SHTLIWITIW .C\Socw\nm\sm\_ow _umm:%mn_ OM] 8y} U8s0o0] "¢
Aueduiop paiesibay 1006 OS/ NI 33V SNOISNIWIQ TV dINpow N-ZgVd Yy Woy Ajquissse aje|d bumy ay) srowsy °|
woo'el-Nemmm  6628°2// 616°L+ xe4 E.—g.n—“sm—“%aw. - < "ONIMYJA 31VOS ION O 'S9JON >_QEwww<

woo'g-je@ojul .\\mEm G107 61671+ 181 ( “Q3HID3dS
Y PC ‘DAL IOMPOO:! I

VS 66522 ON X7 B1Ma Gronpoco Leok FSIMAIHIO SSTINN SIION *Mojaq pajsi| Jap.o ay} ul sdeys Ajquiasse sy} wiopad

9% | 90N
ql-ul Gz / Z¥ 9001
“Assy ajeld Bunig N paliddng sieus)se

ql-ut 0G /-
G 910N

qe} ysnd

(enowsau jou oQ)
(WN $€°0) zo-u1 8¢ 0} UBYBI L.
10
uing g/} + 10Bju0o 0} uelybil
SM810S pesH ued Xz

8pIS 81s0ddQ 8y} uo pejesoT st Alquessy Jajdepy XI4Iqoy 8y} pes4 Yo7 404 ‘UMOYS pasd by

IN-V122Vd-1216 ® IN-VHZZVd-1ZL6
sa|qed XI41q0y 9pIS JISEN dY} JO JUBWYoeRy

Pinnacle Park 1031 Goodworth Drive ¢ Apex, NC 27539 ¢ Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

F-24


http://www.ati-ia.com

Manual, High Current Module, PA22RA-M,PA21RAP-T

Document #9620-20-F-PA22RAM PA21RAPT-04

70

NOISIAZY

1dVdlevd NVHZeYd-02-0€96

¥3IWNN ONIMYIT

G40 G 133HS NOILO3rOdd 10NV PIE

1-2L01L8) #103roxd

m; D

3zs Ell/eN)

*sma1os Bununow sy usyybly pue Jonod 8y} Jiq

“Bunly sppiw 8y} yum Buiels swy e je auo synu awop dub piod ayy usyybi] -

's}joq 8y} usjybiy pue sjeulwls} Bull pue siaysem 20| 8y} ybnouyy s)oq pesy xay ayj Yasu| -
‘Alquiesse dub piod
By} UIyIM pajjelsul g ued jonpoid yym paiddns jowwolB Jauul 8y} ‘s10}oNpuod Jajawelp Jo|[ews

61/92/2 ‘sined "
Buimesq Jswoisn)d 1-dvylzvd ‘W-vHdzevd 61/02/2 ‘|BOOLIDE "M 48 G3103HO

ENTY 81///1] 'SUOWIS " ‘A8 NMVAa

<t wo©

104 "(W¥ MaIA Ul Bunods 8|qed ay} aA1asqo) sdub piod ayy ybnouy) [1elbid ay) wouy sa|qeod ay} 8jnoy ‘¢
'smaJos Bugunow syl uajybiy pue Buisnoy | Zvd au) 0} Alquiasse ajeld Bumiy a8y} yoeny g

3

N

‘1LY 4O NOILYZIOHLNY NILLI¥M JOI¥d HLIM 3O ¥3040 NO 1d30X3 3INNVW
ANY NI G30N00¥d3¥ 38 OL LON "DNI 'NOILYWOLNY T¥RHISNANI LY 40 AL¥3dO¥d

Aueduiog paisjsibeyf 1006 OSI

woo'Bl-jje MMM 66287/ 616 L+ Xed
wooerye@ojul ews  GLLOTLL6L6 L+ 1oL
VSN 6652 ON “xedly ‘nuq ypiompoo9 L£o)

SYALEBWIMIW
NI 33V SNOISNIWIA 1TV
"ONIMYYA FTVOS LON Od

NOILLYIWOLNY
TvIidisnani . h<
Qe

"8|NPOW | -2V d U} WO} JOAOD BUj} SAOWSY

'@314103ds
3SIMIIHLO SSIINN SILON

‘Mmojaq pajsi| Japlo ayj ul sdajs A|quiasse ay} wiopad

¢: 1 Av0s
vV M3IIA

S 90N
‘sjnN swoq dus pio

(stequinN Hed [1e1bid 104 | 1V 10ejU0D)

XXXX-02-5006
/ v

sAay| punoy Jojosuuo)

C 910N
qI-ul Gz / Z¥Z 9111007
WV JOBJUOD ‘Assy |1€161d U pallddng siauslse

NOILVLNIIHO AVMAIMA

"yibus| ||} 4193 Je
UMOUS Jou aJe sa|qeD
(Alqwassy ajnpo |00] diseq)

1-812vd-1216 10 1-112Vd-121l6

Q% | S9JON ‘J8A0)

ql-ut gl / gec 8007
19A0D) UYym
paliddng smalog

apIS eysoddQ ey uo psjeooT si Aquisssy Jejdepy xI4Iq0y 8y} pesd Jo7 104 "Umoys pesd Jubry
(s1939\ Ut yibua j1eybig ay3 saydads JaquinN Hed ayy ut XX'X)

L-XX'XdVH1ZVd-LZL6 B L-XX'XdV11ZVd-1ZL6
19)depy [1e3bid X141qoy apIS 001 3U3 O JUSWIYIERY

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 ¢ Tel: 919.772.0115 » Fax: 919.772.8259 « www.ati-ia.com

F-25


http://www.ati-ia.com/

	F. High Current Modules
	PA22RA—High Current Module
	1.	Product Overview
	2.	Installation
	2.1	Master Module Cable Installation
	2.2	Module Installation
	2.3	Module Removal

	3.	Operation
	4.	Maintenance
	5.	Troubleshooting and Service Procedures
	5.1	Troubleshooting
	5.2	Service Procedures
	5.2.1	Master Module Contact Tip Replacement
	5.2.2	Tool Module Contact Tip and Wave Spring Replacement
	5.2.3	Master Module Contact Base Replacement
	5.2.4	Tool Module Contact Base Replacement
	5.2.5	Tool Module Pigtail Assembly Replacement
	5.2.6	Tubular Seal Replacement


	6.	Serviceable Parts and Special Tools
	7.	Specifications
	8.	Drawings

